| [1/GeV]

t,had

ly

Ratio to ATLAS

|
o
R

[EEY

0.5

13000 GeV pp

tt
| I T I T | T I T I I I | 9
— -0 <
— top . . 9
— pT (ATLAS semileptonic ttbar) 13
B 1=
AN
- o3
| A
o
—
- _ |
— o)
- %
- —=
B e
— — o
— dm
— =
— -1 M
B s
B ATLAS o
I £+ Pythia 6.428 346 - E
Pythia 6.428 347 =
— Pythia 6.428 348 — <
- Pythia 6.428 349 e
~  —A— Pythia 6.428 370 18
)
B 2o
- - o
(&)
| | | | | ' | | | | | | E
:l T T T T | T T T T |:
— =2
___________ ? 1
_________________________ —A i
L —0.5
| 1 1 " 1 1 " | " 1 " 1 1 1 " |
0 500 1000

ptT'had [GeV], |y in [1.4,2.5]



	Contents
	Page 1


